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QUESTION 1

Click the Exhibit button. 

You are responsible for managing a Layer 2 network using RSTP for loop prevention. You recently committed the
configurations shown in the exhibit. Unfortunately, Switch-2 became the root bridge and you must ensure that Switch-1
becomes the root bridge, when available, for this RSTP topology. 

Referring to the exhibit, which configuration change should be performed? 
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A. Configure the ge-0/0/1 and ge-0/0/8 interfaces on Switch-1 to have a priority of 255. 

B. Configure the system MAC on Switch-1 to be higher than the other two switches. 

C. Configure the bridge-priority on Switch-1 as 4k. 

D. Configure the ge-0/0/1 and ge-0/0/8 interfaces on Switch-1 to have a cost of 0. 

Correct Answer: D 

 

QUESTION 2

Exhibit. 
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You are attempting to set up VRRP with R1 and R2 being participating members. You want R1 to be the master router
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and R2 to be the backup router with the virtual router they create being at address 172.25.100.1. The virtual router is not
pinging from either User A or User B. 

Referring to the exhibit, what must be done to correct the problem? 

A. The VRRP group value on R1 and R2 must match. 

B. A VRRP authentication type value is needed on R1 and R2. 

C. A VRRP policy is needed on R1 and R2. 

D. The VRRP priority value on R1 and R2 must match 

Correct Answer: A 

https://www.juniper.net/documentation/en_US/junos/topics/reference/configuration- statement/priority-edit-interfaces-
vrrp.html 

 

QUESTION 3

You are configuring IBGP and you must ensure that reachability is maintained between participating routers, even if the
physical topology changes. 

Which two actions should you perform in this scenario? (Choose two.) 

A. Configure DHCP on all IBGP devices. 

B. Configure an IGP within your IBGP network. 

C. Configure static routes to all IBGP peers. 

D. Configure IBGP peerings to loopback addresses. 

Correct Answer: BD 

 

QUESTION 4

You notice that currently two MAC addresses are associated with a single access port in the bridge table of one of your
EX Series switches. 

What are two explanations for this behavior? (Choose two.) 

A. The native VLAN feature has been associated with the access port. 

B. The mac-move-limit feature has been disabled on the access port, 

C. The access port connects to an IP phone which connects ta a host device 

D. The access port connects to multiple hosts through a rogue device 

Correct Answer: AD 
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QUESTION 5

Click the Exhibit button. 

A routing table contains multiple BGP routes to the same destination prefix. The route preference is the same for each
route. 

Referring to the exhibit, which route would be selected? 

A. route B 

B. route D 

C. route A 

D. route C 

Correct Answer: B 
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